
𝑎 =
∆𝑣

∆𝑡

𝑎 =
0 − 10

2.5 − 0

𝑎 = −4 m s−2

𝑎 =
∆𝑣

∆𝑡

𝑎 =
0 − 15

3.5 − 0

𝑎 = −4.3 m s−2

𝑠 =
1

2
∆𝑣∆𝑡

𝑠 =
1

2
10 x 2.5

𝑠 = 12.5 m from the origin

+15 − 12.5 = +2.5 m

𝑠 =
1

2
∆𝑣∆𝑡

𝑠 =
1

2
15 x 3.5

𝑠 = 26.25 m from the origin

−35 + 26.25 = −8.75 m

+2.5 – (−8.75) = 11.25 m

∆𝑣 =
1

2
𝑎∆𝑡

∆𝑣 =
1

2
(8 − 0) x (2 − 0)

∆𝑣 = 8 m s−1

𝑣 = ∆𝑣 + 𝑣0

𝑣 = 8 + 0.5

𝑣 = 8.5 m s−1

∆𝑣 = 𝑎∆𝑡

∆𝑣 = 8 x (5 − 2)

∆𝑣 = 24 m s−1

𝑣 = 24 + 8.5

𝑣 = 32.5 m s−1

∆𝑣 =
1

2
𝑎∆𝑡

∆𝑣 =
1

2
(8) x (8 − 5)

∆𝑣 = 12 m s−1

𝑣 = 12 + 32.5



𝑣 = 44.5 m s−1

 


